W




30m Auto Reel
40m Auto Reel
Flowmax Auto Reel

2590
obsolete

2595

2597

Spares Part Numbers

Description Part No.
Auto Reel Annual Service Kit 7271022
Contains replacement inlet

assembly, new ball stop, and silicone

grease to lubricate inlet prior to

replacement.

Wall Bracket 271025
Hose Guide 2392

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



2380

15m Auto Reel B

2490
obsolete

2385
obsolete

Spares Part Numbers

Description Part No.
1 | Auto Reel Annual Service Kit 7271022
Contains replacement inlet assembly, new ball stop,
and silicone grease to lubricate inlet prior to
replacement.
2 | Wall Bracket & Pivot Tube 271023
3 | Hose Guide 2392
4 | Hose Replacement Kit 2380 721919
Hose Replacement Kit 2490 721915
Hose Replacement Kit 2385 7221921

Contains 20m Silver Hose Coil, Hose
Connector, Straight Connector (13mm),
Herbie Clip, Support Spring & instructions

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



20m Auto Reel 73
25m Auto Reel B2

Spares Part Numbers

Description Part No.

1| Auto Reel Annual Service Kit 771022
Contains replacement inlet
assembly, new ball stop, and silicone
grease to lubricate inlet prior to
replacement.

2 | Wall Bracket 771028
3 | Hose Guide 2392

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



Spares Part Numbers

Description

Part No.

w

Auto Reel Annual Service Kit
Contains replacement inlet assembly,
new ball stop, and silicone grease to
lubricate inlet prior to replacement.
Wall Bracket & Pivot Tube

Hose Guide

Hose Replacement Kit

10m Silver Hose Coil, Inlet Barb,
Retaining Clip, O-ring, Herbie clip &
instructions

9mm AquaStop Connector

271022

271023
2392
221917

221615

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



B

\

\

N

.
QI Fast Cart g2t

Spares Part Numbers

Description

Part No.

Fast Reel/Cart Annual Service Kit
Contains replacement handle and
plug, replacement inlet assembly
and cir-clip, silicone grease to
lubricate inlet prior to replacement

271020

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



Fast Reel
(Wall Mounted)

Spares Part Numbers

Description Part No.

Fast Reel/Cart Annual Service Kit 271020
Contains replacement handle sleeve
and plug, replacement inlet assembly
and cir-clip, silicone grease to lubricate
inlet prior to replacement

2 | Hose Guide 2392
3 | Hose Replacement Kit 721920
40m 2" Fast Reel Coil; Support Spring,
Hose Connector, Herbie Clip &
instructions.

4 | Wall Bracket 721927

—_

Consumer Services
Hozelock Ltd., Midpoint Park, Birmingham B76 1AB, England. Tel: +44 (0) 121 313 1122 www.hozelock.com
March 2018




Fast Reel
(Free Standing)

Spares Part Numbers

Description Part No.

1 | Fast Reel/Cart Annual Service Kit 271020
Contains replacement handle sleeve
and plug, replacement inlet assembly
and cir-clip, silicone grease to lubricate
inlet prior to replacement

2 | Hose Replacement Kit 721920
40m 2" Fast Reel Coil; Support Spring,
Hose Connector, Herbie Clip &
instructions

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



Compact
Cart

1 \

Spares Part Numbers

Description Part No.

1 | Compact Reel/Cart Service Kit. 271021
Contains replacement rewind handle, new inlet
assembly, replacement anti-kink stainless steel

spring, and silicone grease to lubricate inlet prior

to replacement, spindle & 5/8” BSP Threaded Adaptor
2 | 5/8” BSP Threaded Adaptor* 7221755
3 | Inlet Assembly Z71033

*Also included in 271021 HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com




YIQ

\)

7 D
@

Spares Part Numbers

Description

Part No.

w

Compact Reel/Cart Service Kit
Contains replacement rewind handle,
new inlet assembly, replacement
anti-kink stainless steel spring, and
silicone gel to lubricate inlet prior to
replacement. Plus new wall brackets, 1x
red locking clip. Includes fittings,
spindle, 5/8” BSP Threaded Adaptor

5/8” BSP Threaded Adaptor*
Inlet Assembly
Locking clips x2

271024

7221755
7271033
7271032

*Also included in Z71024

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



2414
obsolete

%{%\\‘\)}Twmm

7=

Spares Part Numbers

Description

Part No.

1 | Compact Reel/Cart Service Kit
Contains replacement rewind handle,
new inlet assembly, replacement
anti-kink stainless steel spring, and
silicone gel to lubricate inlet prior to
replacement, wall brackets, 1x

red locking clip. Includes fittings,
spindle, 5/8” BSP Threaded Adaptor

2 5/8” BSP Threaded Adaptor*
3 Inlet Assembly

271021

7221755
771033

*Also included in Z71021

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



’. 30m Hose Reel B2
‘ (Freestanding) ehlz

Spares Part Numbers

Description Part No.

Inlet assembly 721918

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



M 30m Hose Reel 2420
(Wall Mounted)

Spares Part Numbers

Description Part No.

1 | Inlet assembly 721918

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



2400

2405
2497
2588

obsolete

Spares Part Numbers

Description

Part No.

Hose Reel/Cart Service Kit

Contains replacement handle plug and
sleeve, replacement 5/8” BSP inlet
assembly, male spindle with stainless
steel spring, and silicone grease to
lubricate inlet prior to replacement
5/8” BSP Threaded Adaptor®

Inlet Assembly

271021

221755
271033

*Also included in Z71021

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



' 3’n1 Hose Carts

Spares Part Numbers

Description Part No.
1 | Hose Reel/Cart Service Kit 271021

Contains replacement handle plug and

sleeve, replacement 5/8” BSP inlet

assembly, male spindle with stainless

steel spring, and silicone grease to

lubricate inlet prior to replacement
2 5/8” BSP Threaded Adaptor* 7221755
3 Wall Bracket Kit & Fixings 721856
4 | Inlet Assembly 7271033
5 Locking Clips x2 271032

*Also included in Z71021

2483

obsolete

2484

obsolete

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



Metal Hose
Cart

Two spindle options:

3 M,Mww @) @ Compatible with:

LU 2436

. You may also need a
indl Claw Sprin Nut
spindle oW Pring 221755 (see 2, below)

4 Mfff Compatible with:
2452, 2460, 2461,

2465, 2466

5/8”BSP  Spindle Male
Threaded End
Adaptor

Spares Part Numbers

Description Part No.

1 | Hose Reel/Cart Service Kit 271021
Contains replacement handle plug and
sleeve, replacement 5/8” BSP inlet
assembly, male spindle with stainless
steel spring, and silicone grease to
lubricate inlet prior to replacement

2 5/8” BSP Threaded Adaptor* 721755
3 Inlet assembly (claw connector) Z71033
4 Inlet assembly (male connector) 271040

*Also included in Z71021

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



Reels

\
g

Spares Part Numbers

Description Part No.
1 | Hose Reel/Cart Service Kit 271021

Contains replacement handle plug and

sleeve, replacement 5/8” BSP inlet

assembly, male spindle with stainless

steel spring and silicone grease to

lubricate inlet prior to replacement
2 5/8” Threaded Adaptor® 7221755
3 | Wall Bracket Kit & Fixings 721856
4 | Inlet Assembly Z71033
5 Locking Clips x2 771032

*Also included in Z71021

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



Wall Mounted Reel gzEt

2393

obsolete

Spares Part Numbers

Description Part No.
1 | Wall Plate & Fixings 7221715
2 | Universal Hose Guide & Fixings 2392
3 | Hose Connector 2100

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



7816

Garden Pump 7819

Spares Part Numbers

Description Part No.
1 | Pump Accessories Kit Z71010
Filter Vessel, Filter & Outlet Adaptor
2 | Spirabel Hose 6235

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



Water Butt Pump 2L

Spares Part Numbers

Description

Part No.

Pump Accessories Kit
Coarse Inlet Filter & 3/4” BSP Filter
Washer

271009

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



Growbag Waterer

Flower & Vegetable
Waterer

Spares Part Numbers

Description Part No.
1 | Replacement Capillary Mat Set (x8) 2813 0000
2 | Set of Watering Spikes (x4) 2815 0000

Trays NOT available as a separate spare

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



Pico™ Reel BP#5

Spares Part Numbers

Description

Part No.

Replacement AquaStop Connector
Outdoor Tap Connector

221615
2175

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



8015

Superhoze EZE
8040

The ‘tail’ or nut of
the connector is
permanently fixed to
the hose and cannot
be replaced

Spares Part Numbers

Description Part No.

Replacement 9mm AquaStop Connector | 721615

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



Pico Power 68

Spares Part Numbers

Description Part No.
1 | Trigger & Nozzle 7923
2 | Nozzle Set 7924
3 | Hose 7925
4 | Service Kit (contains O-rings) 7926
5 | Detergent Tank 7928
6 | Karcher adaptor 7927

HOZELOCK

Consumer Services

Hozelock Ltd., Midpoint Park,
Birmingham B76 1AB, England.
Tel: +44 (0) 121 313 1122
www.hozelock.com



